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N = 0] &F AF S & AN A
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SN RFRBY
Hu: HTAASH
Sl HBUARY (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
LFez 22,010,776 11,274,999 10,735,777
= 8,877,000
g 65,000
& 1,446,800
Al 11,621,976
RN = 20,658,760 10,117,179 10,541,581
= 8,877,000
o 1,397,000
Al 10,384,760
el RN e = 5,188,055 4,011,682 1,176,373
SRRFNMEEH 5,170,055 3,993, 682 1,176,373
101 e1214| 35,055 77,682 N4A2 627
04 JI2tHIZ22NSESES 35,055 77,682 N4P 627
OO ZOIERE XY R o122 73,280& x90L 6,596
OO ZOIEE XY BEga 270,000 x3& 810
OE -HEZZ X o8 22,344,000 22,344
Os -HIAZ22 X 4HEE S 22,344,000 *13% 2,905
O -HEZZ X E&Z 2,400,000 2,400
201 et 9| 23,000 16,000 7,000
01 AP 2t 2| bl 15,000 9,000 6,000
OYtt4f==2y| 10,000, 000& 10,000
OEZMROAMLE XD EEZS HE S
5,000,000& 5,000
02 222494l 8,000 7,000 1,000
02222 <2 HMA 3,000,000& 3,000
OXtgHed] 5,000,000& 5,000
202 o4 H| 12,000 12,000 0
01 2L I 12,000 12,000 0
oO22=&0| 12,000,000& 12,000
203 €2 F=&d| 11,000 11,000 0
03 AIEH =X 2 F XY 11,000 11,000 0
oOgBNMAETH HRFX 7,000,000& 7,000
OYLEBTINUAGIZL A2EX S
4,000,000& 4,000
207 O 4| 100,000 80,000 20,000
01 s 4| 100,000 80,000 20,000
ONH BZ2FA S8 U YHFY B
100,000, 000& 100,000
301 et ™M= 2,000,000 0 2,000,000
01 Al E& A 53 2,000,000 0 2,000,000
OAMNESZAMY DBt KX £ 4 A&
2,000,000,000& 2,000,000
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SN 2FYBI
Hu: HTAASH
Sl HBUARY (B9 ®R)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 240,000 220,000 20,000
02 PIZHEHAHEE 20,000 0 20,000
OAE SSMROALZE X210 2 2248 X
2 20,000,000& 20,000
04 DI2HHALALSE E X 220,000 220,000 0
OUHOHZOtEAA 220,000, 000& 220,000
308 XXIEHH SOl A 2,749,000 3,555,000 A 806,000
M 3IN2SUHUS3 LS A 2,749,000 3,555,000 A 806,000
O3 IeEs dAHRHH XA
100,000, 000& 100,000
oddgesMAINNAH 24 150,000, 000& 150,000
OSXIALEH PAV ZHHE X I HHSA
100,000, 000& 100,000
03Il #=2 ALGE AXNLAHE Jg2=
345,000,000 345,000
OSY=REE ANEEI 25257 XA
300,000,000 300,000
OEAESE F3MR0 2124 100,000,000 100,000
ong=ad Rz ®A2c 15,000, 000& 15,000
0371y == 40AHE NJAAZ
300,000,000 300,000
OHEdE CXNESAHAH XNIAAY
739,000,000 739,000
OS¢y RZYM XA ALY
600,000,000& 600,000
s3It N 18,000 18,000 0
201 Let24E] 18,000 18,000 0
01 At 22l 18,000 18,000 0
oOsE& #A ¥ JEs #, ME
18,000, 000& 18,000
miigny = 2,055,428 2,185,497 A 130,069
= 596,000
Al 1,459,428
AdEHEIZFusrat K& 1,192,000 1,192,000 0
= 596,000
Al 596,000
307 glz2+ol & 1,192,000 1,192,000 0
= 596,000
Al 596,000
05 RIZIRI &3 1,192,000 1,192,000 0
OMEEHEZI2FNE 2 AL U=
1,192,000, 000& 1,192,000
= 596,000
Al 596,000
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HY: BRMASY
Sl DY EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
AEEHESZ IS 2 29 863,428 993,497 A 130,069
101 @14 Hl 84,428 217,497 A 133,069
04 JIZHHZ2XNEE S 84,428 217,497 A 133,069
o= 73,2803 x6H 105 46,167
O=Xt=¢ 29,3203 x6H x52 9,148
ORI == 29,3203 x6H 122 2,112
o4tz 77,210,880 *14% 10,810
OLAIAY 212 1,500, 000& »2H 3,000
Osgz=eg 109,920 6% 20 13,191
201 Let24E] 93,000 90,000 3,000
01 At 22l 28,000 25,000 3,000
onsta2d 23,000,000& 23,000
Osg stz 22X Sl 3,000,000& 3,000
Oontsta 28 E2= M 2,000,000& 2,000
02 =24l 65,000 65,000 0
O A& EHl =Xl 5,000,000& 5,000
oOz&E2= & HA 60,000,000 60,000
307 21201 A 686,000 686,000 0
05 BIZERI & 3 686,000 686,000 0
OMBFHCEZLSTUSE AL 24|
686,000,000 686,000
SR =4 11,715,277 2,420,000 9,295,277
= 8,281,000
< 1,097,000
Al 2,337,277
g4ty S3ER XI& 118,277 0 118,277
101 @14l 3,306 0 3,306
04 JI2ZtHZ22EE = 3,306 0 3,306
OLAIAIH QI 2 145,000 2 10 2,900
ONELTHEEZ 2,900,000 x14% 406
307 21201 A 114,971 0 114,971
02 IZtEAAMHEE 114,971 0 114,971
ogZdZ=4&Y St Ex3 K&
114,971,000& 114,971
dY S3IAGEX 4 (IIBFAIE-H %) 1,282,000 730,000 552,000
2 921,000
Al 361,000
401 A& HIZ 201 Y] 1,282,000 730,000 552,000
= 921,000
Al 361,000
01 A& HI 1,277,400 725,500 551,900
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

QH=AHAHMIAIE EXSA 1,277,400,000& 1,277,400
= 917,780
Al 359,620

03 A& 2 THHI 4,600 4,500 100
QH=HAHAMCIAIE EX3A 4,600,000 4,600
= 3,220
Al 1,380

de 833N ZH(IIBFAIE-2 %) 700,000 300,000 400,000

401 Al HI K 201 I 700,000 300,000 400,000

01 A& HI 695,590 297,840 397,750
OLF=AHAKXeIAE EXSA 695,590, 000& 695,590

03 A& =2 THHI 4,410 2,160 2,250
O2=AHAHAMEAIE EX3A 4,410,000 4,410

Y S2INYEX ZH(IIBAIE-SEMFAEL) 9,315,000 600,000 8,715,000
= 7,360,000
< 947,000
Al 1,008,000

401 AIEHI L 2] 9,315,000 600,000 8,715,000
= 7,360,000
< 947,000
Al 1,008,000

01 A& HI 9,291,713 596,220 8,695,493
ORAESHMFAE EXSA 9,291,713,000& 9,291,713
= 7,343,630
< 944,181
Al 1,003,902

03 A& SR THHI 23,287 3,780 19,507
O2EMFANE EXSA 23,287,000 23,287
= 16,370
< 2,819
Al 4,098

ADEDE MAET ZH(FEESI I E) 300,000 0 300,000
< 150,000
Al 150,000

401 AIEHI L 20 300,000 0 300,000
< 150,000
Al 150,000

01 A& Bl 300,000 0 300,000
OADIEDY MHEX =4 300,000, 000& 300,000
< 150,000
Al 150,000

AHE Ol Of & 1,700,000 1,500,000 200,000
< 300,000
Al 1,400,000

AFE Ol O £ 1,700,000 1,500,000 200,000




SN RFRBY
Hu: HTAASH
S AFE OO A (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 300,000
Al 1,400,000
307 2iz2to| A 1,700,000 1,500,000 200,000
= 300,000
Al 1,400,000
04 QIZ2tSHALALS B X 1,700,000 1,500,000 200,000
OAFE Ol O & 1,700,000,000& 1,700,000
& 300,000
Al 1,400,000
g ENEA 1,272,576 1,088,500 184,076
Fag 65,000
=} 49,800
Al 1,157,776
I EXN=EXN 1,272,576 1,088,500 184,076
Ry 65,000
& 49,800
Al 1,157,776
NEEX=A 100,000 100,000 0
g 65,000
= 21,000
Al 14,000
402 SI2FXHE0| ™ 100,000 100,000 0
Fag 65,000
= 21,000
Al 14,000
02 CIZEXIE A E X (0| & THS) 100,000 100,000 0
OXNLENEA K& 100,000,000 100,000
g 65,000
& 21,000
Al 14,000
EXgX 479,200 289,000 190,200
201 et d| 21,200 19,000 2,200
01 A2t 2| bl 21,200 19,000 2,200
O ENSXNNEIZ2 SAHUE =42
11,200,000& 11,200
ENGX EE2E=2E M 10,000,000 10,000
308 AXIEHHMSOIA 458,000 270,000 188,000
11 2I2SHUSHEAXERAE AL 458,000 270,000 188,000
OADIEZE 2= K& 458,000,000& 458,000
Al MRrIOEdE EX=2 X 42,000 51,000 A9,000
& 21,000
Al 21,000
307 QI2t01 & 42,000 51,000 29,000
= 21,000
Al 21,000
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5 - 4
SN - SAGEA) - MRAY - BES 0l &t o il Bl RE2
02 It M AHE L 42,000 51,000 A 9,000
OFZIY M7DE 2x3 N
42,000,0008! 42,000
< 21,000
Al 21,000
S AEE & 22X X 234,000 239,000 A5,000
201 ¢er24| 3,000 3,000 0
01 At 22l 3,000 3,000 0
O et~ H| 3,000,000& 3,000
307 glz2tol & 231,000 236,000 A5,000
02 21t Z &AL 2 231,000 236,000 A5,000
o=22x ¢x XN& 31,000,000& 31,000
oss2z=XJla =24 200,000, 000& 200,000
2=QF=0l XHAte HEXH 26,000 26,000 0
< 7,800
Al 18,200
307 21240 26,000 26,000 0
< 7,800
Al 18,200
02 It HAMHEE 16,000 16,000 0
0g=¢e 22X o 2Y 16,000,000& 16,000
< 4,800
Al 11,200
04 DIZHHALALSE E X 10,000 10,000 0
og=¢e 22X stote =Hl
10,000, 000& 10,000
= 3,000
Al 7,000
MEANZZNHSE =X 356,376 338,500 17,876
307 21201 A 259,376 249,000 10,376
05 RIZt2IEt = 259,376 249,000 10,376
2SS EN 29  259,376,000& 259,376
401 AIEHI L 20HEI 97,000 76,500 20,500
01 A& HI 97,000 76,500 20,500
OLEDZ=Z WX S At 25,000,000& 25,000
ONE 202 O3 WM SAt 72,000,000& 72,000
MEAHEAEZ2ZNXN2HEH 22 35,000 35,000 0
307 21201 A 35,000 35,000 0
05 RIZt2IEt = 35,000 35,000 0
OHERAEZZXAJMMEH XI& 35,000,000 35,000
BYSYYH (LT D) 79,440 69,320 10,120




SN REHBY
M HHSAAH (SFLT )
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl= &l 79,440 69,320 10,120
Jl=dl 79,440 69,320 10,120
201 Let24d] 8,000 7,000 1,000
01 At 22/l 8,000 7,000 1,000
ogB2d| 8,000,000& 8,000
202 O4dl 63,840 54,720 9,120
01 = LH 4 Hi 63,840 54,720 9,120
O2EZ I 280,000& *x19H 122 63,840
203 YR =2t 7,600 7,600 0
01 12 2H YR 4,000 4,000 0
ogsdN= 24 4,000,000& 4,000
04 RN2ELRZ=TH| 3,600 3,600 0
ORNM2IYRFLHI 300,000& x12& 3,600




